Pre-Calculus 11

Trigonometry Review Name KGQ
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1. Find the reference angles of the following angles in standard position.

a) 300° , b) 200° c) 27.5°
O =360-200° Byv=200"-180°
24 200° \or =207
[N (—\ 21.56°
NE 2

2. The point P(3,—4) lies on the terminal arm of an angle 8, in standard position.

Determine the exact trigonometric ratios for sin 8, cos 6, and tan9. 2>+ (-0)" =¢*

S A Al =¢*
sinf = "_%_ 25 =c*
V25 =¢C
5=C
0N 3 3
cosf = =—
\| S
-4
S
At tan§ = ~
3
C

-+

3. Determine the exact value of the following angles. Show work. No Calculators.

a) sin315°  B¢= 2L0-2\5° b) tan210°  ©y=210-1\80°
= I.\So :30 ’
s & < A
3\50 2\0°
A\ \EXA
B
\’ \ \
2 YR
- 3 Al ¢
Si“%\‘-:o::\’_
2 +oNn2\0° = =
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4. Determine the exact value of the sine, cosine, and tangent values for each ratio.

a) 360°

sind=Y =0 -0 b) 90° sing =% =4 =)

v T 4 \ ¢ \
COS@=Z:,‘-:\ ﬁa\o cosQ:l:ﬁ:O
oo Y \
tan@ =Y = 9 =0 tang =Y =L -one
* N\ % O

5. Suppose 8 is an angle in standard position with a terminal arm in quadrant IV, sin § = Z2Z opp

What is the exact value of cos @ and tan 6.

< -k
3 g
A2
o U N
S
T ¢
b \*
6. Solve for 6.
a) 2c059—1=9 0° <6 <360°
cosd = L )
Z W
S il A KG:UO",
- v v
B 5-3,0"k0
o 200°
©6° \ =
N
C
c) 2sin@++V3=0 0°<6 <360°
sng= ~N3_ ope
Z WP 5=180°+60°
:S?J—\0°&
R © = 20~ 60"
0T\ 0%
% N(Z- <[00’
2 2
C

\'\3\7
S =g”
cosf = \Yi\ =128 -4
S o = 2\
v=§2
tanf = ~&_
\PX
b) tan6+1=0 0°<6<360°
+ong = -\ °re
\ C,\Aj ﬁ . .
6_—\60 'L\%
@ -
N
h] 1 ) °
\\ = O = 3b0-41%
\ _
o2 s’
Al c
d) 2cos@++v3=0 0°<6 < 360°
0s0 = -3 ad}
< 2 "R A
= 180™-20°
DX R
VER o= 180°+30°
7 =10° ]
2
T C
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7. Point P(7,—4) is on the terminal arm of an angle 6.
. L
a) Sketch the angle in standard position. Tand; - 7
\b
b) State the reference angle. 8, ={an™" '%) : ? “
c) State theangle 8. 6 = 3,0°-%0° :
8. Point P(—4,—4) is on the terminal arm of an angle 9.
YoNng = _:1
a) Sketch the angle in standard position. -y o
o N
b) State the reference angle. 8, = Yan™" () :\E:) l//
-
c) State the angle 8. 8 = \80°+1&° :
9. Without using a calculator, state whether each ratio is positive or negative.’
a) sin80° b) tan 345° c) cos181° d) tan 280° e) sin165°
S|A
S S S . N =4
[NEAS <
i N’-‘}M‘YQ \\Q(ﬁa’d\(?. \'\e,cja\—i‘(t poswive

10. Without using a calculator, determine whether each statement is true or false. Show work.

180- 135 =48 a) cos135° = sin 225° 225180 = 45

o - < & - o =
S! L f (0S\3s° = \T_i | UN2S =
\ c

\
Y

b) tan 135° = tan 225°

> ‘ &P 4anestel
i %_ \
C
.

¢) sin 60° = cos 330°

S s S'\V\(Dooi _\Y-i/- S K Qoggsoo: r%
e\t = \ =
T ¢ 2
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11. InAUVW, 2U = 50°, v = 19.4 cm, and 2V = 45°.
Determine the length of side u to the nearest tenth of a centimetre.

wns0® « M= AN e
o —_—
SN0 S\V\"\S

\U\" 20.0cm !

12. In APQR, T = 52.5 cm, p = 40.0 cm, and £Q = 67°.
Determine the length of side g to the nearest tenth of a centimetre.

o,,"‘: 528" +L\OL_Z(5'2 SH10) cos 1’
q’?- = 2“\5.\‘—‘0'1(0

ﬂ/: ans

13. Sketch a triangle that corresponds to the equation.
Then determine the third angle and the third side length

12 19 \80 -24° -40°

sin 24 - sin 40 =@
%

aoe X = 1 xsialle
sinly sy’

14. In AABC below, determine the measure of 2A
QOSP( - 57__\'_.\1, _87-
5 2.0

Cosh= 1D
B8 o

Q

10

L= s (55)

[me 818" ]
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15. A kayak leaves Rankin Inlet, Nunavut, and heads due south for 4.5 km. At the same time, a
second kayak travels in a direction S75°E from the inlet for 3.2 km. In which direction, to the
nearest degree, would the second kayak have to travel to meet the first kayak?

O Find X X*=4.8" +3.27 - 2,(4.8)(3.0) 0575 °

Y= zS.lOSlo
X = {av\S Co
x=4.8kwm
ind e kayaker must travel in
®F\:~ng,'_ SR 5 o : adivectson SHO°W +o meet
e 3\7, R x‘ e G Kayater .
Ofind svde X SN =0.b439....
@ #Hind 6 B=sin (0440

®6 s qpal toaL 8= ygp°

16. Given ZA =53°and b = 20cm

a) Determine the height of the triangle to
the nearest tenth of a centimeter.

i °- 0 ‘
sSinS3 /hP,?_ A
wli c) Determine and illustrate the number of
20% Sink3° = _\1\_, x20 triangles that can be drawn ifa = 17cm
20 , ;
r\—‘lh; o .
W= e Oom
b) Determine and illustrate the number of ‘ iwo
triangles that can be drawn if a = 8cm

. gem X\\'—\\ou\r\
46’5 :
, d) Determine and illustrate the number of

triangles that can be drawn if a = 22cm

m 22

one
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17. Mr. McKay and Mr. Campbell are keeping busy playing with a helium filled balloon in the field.
There are two strings tied to the balloon and each man is holding one of the strings. The string of Mr.
McKay's balloon is 16.2 feet long and forms an angle of 37° with the ground. Mr. Campbell's balloon
string is 12.3 feet. Assuming that Mr. McKay and Mr. Campbell form a triangle in a vertical plane with

the balloon, what is the distance between Mr. McKay and Mr. Campbell?

Baveo N
\\0-7'/Q 123
% 1° b\\

Moy Cotmpbell

O Find <0

Wb SIWnC = _5\1\?_)1 x\\y L

Te2 2%

SNC= 6,126

@ whatis &7

\90 — 52° el

® Whotis tide 1%

. [}
N SR
STCTIE

Wereis asteond -‘rv\w\oy%\

@ tan anoyner Jrv\dvx@;exm?
CheOe wingn &\ oo USE
£C=\D0" " -52°
Lc=\28"
LB =\BO 2p-31° @ 7
%‘de@f\\:\\;\@: %.% MR Y

A Thcxﬁ ave &

ther 2o M Fror B.36 o pavk



